
SEMESTER 2

1. Choose the correct option.
a. `19 =

i. 19 paise ii. 1900 paise iii. 1.9 paise iv. 190 paise
b. `9.45 =

iii. 94.5 paise ii. 0.945 paise iii. 9450 paise iv. 945 paise
c. 968 paise =

i. 		`9.68 ii.	 `96.8 iii.	 `968 iv.	 `9680
d. 2540 paise =

i. 		`2540 ii.	 `2.540 iii.	 `25.40 iv.	 `0.2540

2. State whether the following statements are true or false.
a. 59 rupees 75 paise = `59.75

b. 63 rupees 9 paise = `63.90

c. `48.03 = Rupees forty-eight and 30 paise

d. `2000 + `500 + `70 = `2570

3. Match the following.

a. `23.45 + `1.37 i. `24.36

b. `728 – `189 ii. `24.82

c. `43.68 – `19.32 iii. `268.55

d. `240.80 + `18.75 + `9 iv. `539

4. Answer the following questions.
a. Subtract `9.07 from `173.85.
b. To pay `300 to a shopkeeper, I can pay _____ 100-rupee notes.
c. If five pens cost `100, what is the cost of one pen?
d. Vibha bought a shirt for `1250. She gave the shopkeeper a 2000-rupee note. How

much money will the shopkeeper return to her?
e. To pay `2000, I can pay ______ 500-rupee notes or _____ 200-rupee notes.
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